Practice Sheet ALKENES/ALKYNES KEY

1. Provide correct IUPAC names for the following compounds:
	a)


[image: image12.emf]C


H


3


C


H


2


C


C


H


C


H


3


C


H


3


C


H


3


C


H


2


C


H


C


H


3


C


H


C


H


3


H


C


H


3


C


H


2


C


C


H


3


C


H


C


H


3


H


C


H


3


C


H


2


C


C


H


3


C


l


C


H


C


H


3


H


More stable carbonium


ion makes the only product




CH

3

CH

2

C CHCH

3

CH

3

CH

3

CH

2

CH

CH

3

CHCH

3

H

CH

3

CH

2

C

CH

3

CHCH

3

H

CH

3

CH

2

C

CH

3

Cl

CHCH

3

H

More stable carbonium

ion makes the only product


	2-methyl-3-pentene

	b)
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	2,3-dimethyl-2-heptene
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	cis-4-methyl-2-pentene

	d)
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	trans-5-bromo-2,6-dimethyl-3-octene

	e)
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	 2-methyl-3-hexyne

	f) 
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	2-bromo-3-chloro-7,8-dimethyl-4-decyne


2. Draw structures for the following compounds:
	a).1-butene
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	b) 3-methyl-4-propyl-3-octene
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	c) 5-ethyl-2-methyl-3-heptyne
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3. Draw out and name the following compounds:

a) CH3CH2CH=CHCH(CH3)2 


b) CH2=C(CH3)CHBrCHICH3
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2-methyl-3-hexene

             3-bromo-4-iodo-2-methyl-1-pentene
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4. For the reaction of 3-methyl-2-pentene with HCl, show the product of the reaction and explain why   

    this product is the only one produced.  (i.e. Explain why Markovnikov’s rule works.)
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